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Lesson 07
= PracticeDrill 1 &

KEY

(From Grade Calculation on last page)

SoTrandate (22 answers):
£V 1) GLVAYOYT] 0 ANOGTOLOG EKNPVGGE T GOPPRAT® TO EVAYYEALOV T® Aa@ Kol elmev: OVOL TO1¢ ANLoTOLG
£nL T NUEPQ ToD KVPLOV, TOLOVTOL YOP KAOLGOVOLY OTL ADTOL 0V TETLGTEVKAGLY £V TM KLPL®.

In the synagogue the apostle was preaching on the sabbath the gospel to the people and said, "Woeto the
unbelievers on the day of the Lord, for such people will weep because they have not believed in the Lord.

o< Parse (14 answer s):
&v 1 ovvaywyd (7 answers): 1 - Loc (Place) - F - S- cuvaymyn, 1= XXXXXXXXXXXXXX

0 andotorog (7 answers): 2- Nom (Subj) - M - S- ArmdoToA0g, 6 - XXXXXXXXXXX

eéxknpuooe (8answers): Imperf (Desc) - Act - Ind - 3 - S- knpHGem - XXXXXXXXXXXXX

t® ocaPPore (7 answers): 2 - Loc (Time) - N - S- 6aBPatov, T - XXXXXXXXXXXXXXX

10 evayyéiov (7 answers): 2- Acc (Dir Obj) - N - S- edayy€ALov, 10 - XXXXXXXXXXX

w®Ao@ (7 answers): 2 - Dat (Indir Obj) - M - S-A0.0g, 0 - XXXXXXXXXXXX

kat: coordinate conjunction connecting two independent clauses- and

einev (8 answers): 2 Aor (Const) - Act - Ind - 3 - S- Aéym - XXXXXXXXXXXX

Ovat: adverbial interjection with verbal tones: woeto

t01g amiotolg (9 answers): Adj (Subst) - Dat (Ref) - M - P - rmiotog, -0v - XXXXXXXXXXXXXX

ent i nuépa (7 answers): 1-Loc (Time) - F- S-fuépa, 1 - XXXXXXXXXXXXXX

10 kuplov (7 answers): 2 - Gen (Desc) - M - S- kp1og, 0 - XXXXXXXXXXXXXXX

totovtot (10 answers): Demon Pron - Nom (Subj) - M - P - tovodtog, -001n, -odtov - such people
yop: postpositive coordinate conjunction introduci ng independent causal clause - XXXXXXXXX
kAaiocovowv (8answers): Fut (Pred) - Act - Ind - 3- P- kAoilm - XXXXXXXXXXXXXXX

ot (4 answers): subordinate conjunction introducing conjunctory adverbial causal dependent clause- XXXXXXXXXXX
ovtot (10 answers): Pers Pron - Nom (Subj) - M - P- a0tdg, -1, -0 = XXXXXXXXXXXXXXX

oV nemiotevkooly (8 answers): Perf (Cons) - Act - Ind - 3- P- iotevm - they have not believed



Page 2 Lesson 07 Practice Dirill
€v 1 xvupl® (7 answers): 2 - Loc (Sphere) - M - S- k0p1og, 0 - XXXXXXXXXXXX

3B Decline anéororoc, 6 (8 answers):

Singular Plural
Nom: GmOGTOAOG ondoToAoL
Gen/Abl: Om06TOAOL OTOGTOA®V
Dat/Ins/Loc: dmnoctore OTOGTOAOLG
Acc: OTOGTOAOV OmOGTOAOVG

«%* Conjugate k aiem in the future active indicative (6 answers):

Singular: Plural:
1 Pers: KAOLOW® KAO1GOUEV
2 Pers: KAOLGELG KAOLGETE
3 Pers: KAOLGEL KAoilcovoL(Vv)

********************GRADE CAL CULATI ON********************

Number of Errors . Total Pts. 100. 00
M ssed accents and breat hing marks
= 1/4 error per word M nus Pts.
Ti mes 2.00 M ssed
Total Pts. M ssed . G ade

(Pl ease record grade at top of page 1)



